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Note: (i)  There arc in all eight questions in this
question paper.
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(i) AW questions-are compulsony.! T i
(it) In the beginning of BLh question, lhc

number of parts to b attefpled” ff
clearly mentioned.

(iv) Marks allotted to the questions are
indicated against them.

(v)  Start from the first question and proceed
to the last.

(vi) Do not waste time over a question you
cannot solve.

Preaferfian o @ Pt wmwvel ) e Hifore

. d
(ﬁjmh+3y=smx,ﬁij F1 99 T
Hif |

1
Sec Lou
(H}.J‘ sccx:l-::anx dx %1 9T 1 HifAg | 1
(M) Pl sirw whem A 2 o o
3?'"5&: R
Ey" o (ayye -
d"-!- \ :1""[‘&%] 1
() mﬁameﬂﬁgﬁmﬁ;
P-B"‘BC+CA 0

(%) 33 ABCD % mrrpa ¢, —
OC T e g Evn E € 19 AB = 3,
AD = b B, drefim EF wm $ife | 1



i = g5 .
Attempt any four parts of the following : 2. Attempt any four parts ufmefullnvflng . i
. - dy . (a) Find the differential co-efficient of cos™'x.
(a) .. Find , the' value of m__al" the funcuion from first principle.
2y + 3y =sinx. 1 :
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3. Attempt.anyfour parts of the following : 5. ﬁqmﬁﬁﬁ?ﬁiﬂﬁﬁwﬁﬁ?ﬂ .
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oy o s (%) "7 oy g $fe; IR srae
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he sells all the boxes, then how many boxes 7. Attempt any one part of the following :
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